ﬁ£30£|5f“: E[ﬂﬁ%'*‘%ﬁ*ﬁ*ﬁi ﬁ_ﬂﬁ'b‘ RAE— Eﬁ FHOFIOROE  MEMAMELRHS

fiz fi 5 fa fiz
EE%(&% %E) SDER EE%(&% %E)\ SDER EE%(&% %E)\ SDER EE%(&% %E)\ ik | K& (BA-2F) | & R%(*ﬁ%-?ﬁ)\ ERERS

T T
100m| B Bif =@ 1) 12743 |HF ﬁti““ﬁw 12744 |/NE "%1E<=ﬁl> 12793 8RE 357(<E=E1> 12794 |h)Il FBEE <= 1| 13733 |HFE FER (Ex 1) 13740

100m|FKE 5 (% 2| 12711 |4 MK (EfE 20 12713 |#H /B Em2)| 12788 |MEEE EASE (wE 20 13701 |HAEF K& (=@ 20 13719 | LR R (Ex 20 13741

1500m | #AR JTH =% 1) 4’527 16| #AK P (E® 1) 4'59703|4EIR EE (B 1) 53343 B S BA (B 1) 509°75 A MAX (E@ 1) 530736 HH B &@ 1) 530759

il

1500m| B F#H (=f 204 42"57| B ekt =@ 2044478480 IEE wE 2)4'48"49] BR R O (Ex2)509727] B (E®E 2)5°10753];FF WMZ (EF 20519792

Bl

200m|#ME Bk (=F 2> 25703 |48l #A (EFE 2> 25759 |HF HIE (=mm o 25796 |/NE FTih (Em | 26771 |BH XK (E@E 10 27732 |EFiH WE (Em 2 27743
400m|#EHE G EfE 2> 56798 | B BK (E® 2> 1702784|8iK FHEE (Exm 1 1703797 ( ) ( ) ( )
800m| A JIl Hitst «=m 2> 3'20"42|{FFF KA (& 2 2°25"19|/NE FIE (E® 2)2'28"46| T2 AKRFE (E®E 1) 3° 08796 ¢ ) ¢ )
3000m| =i FiK CHZE 3)10°01778 ¢ ) ¢ ) ¢ ) ¢ ) < )
3000m| iEJIl #F (HE 2 958770 A B (#1010 06754 55K ZEZE (HE 2 10014777|HE O Sk CHE 2510’ 47738 K/MRBAE (=W 20 1153720 AIR GE HE 251229779

m].}
E

110mH|#i% && 18702 ( ) ‘ ) ‘ ) ( ) ) )

ax100mR|  EfEHAE 49”28 wE 50”51 = [ F 51”85 = R 52702
EEM|EE ER B O 1m4a5 |FEIH B CEFE 1 1m40 ( ) ( ) ( ) ( )
ErEpk| )l BRE mm ) 4m72 | & (@M 1) 4m35 |E#E P Em ) 4m28 |HAT BA (EF 1 4m08 |EE BKR (Em 1) 3m92 |EO KE (EE 1) 3m66
EE|FE W55 wE 2 5me4 |/NE FNE (Em2) 4m97 |HER KBS (@ 20 4mb55 |SEUE HR{Z (Em2) 4m45 ‘ ) ( )
A BF 4 =mk2o 6ms3 |FEUK AR (mm o 6m67 | HTE [ (w1 5m30 ( ) ( ) < )
100m/NEIFSM (EE 1) 13782 | BE # (=@ 1 14705 9&,_‘%%:% CBE 1) 14743 {Ziﬁi}i T H#E ) 14743 | BB KF SFE 10 14788 | /MK MR (Emdk 1) 14798

EER| R TE CHE O 4m23 ¢ ) ( ) ( ) < ) ( )

800m|FR/E D =/ 1)2'32777|2F EAL H#Ex1)2°33"73|HIE KF Bk 1) 2 41794| FE WE wE 1) 2745765 FEVAT wE 12 46740 | KRB B =/ 11253776

B

100m|fIE k& (Ed 20 13705 |AE IRfE (=@ 20 13”58 |HEF #AE (E¥ 20 13774 |MEAERH (E@ 2> 13792 |#HE FE (wE 2 14720 |FA HXR EF 2> 14730
200m|AM Il (E# 2> 28789 |/NELDH (EE 1) 29746 |FIR TR =d 20 29751 |HHE BRIE (E® 2> 30723 |BEEARGH (Ee 2o 30726 | /MK MR < Ed 1o 31730
£ 800m|EHEBELE (H% 2)2'33"41|S5H EFE (Hx 2 2 34728| EIE BRI (E® 2) 2'37708|ILUE FER (Fik 2)/2' 38”25\t F BF (E@ 202 447265EK B (wE 2> 247771
# 1500m|HFEBES (H% 2> 5 10"30|FE #FE Em 1051272 & B (EF 2> 5 33743|F EF (Ed 2> 5 50738| K¥E B  HE 2> 558709 ¢ )
1500m | $iRFERSE (Hx 3) 5 32"79| K¥E BHE (H%3)5 40736 ( ) ( ) ( ) ( )
@ 100mH| B A (E@E 2 15795 |AHF LIF (=@ 1 16787 |BF Yd (E@E ) 17738 | BE £ (EE 1O 19722 |B KF (EE 1) 19725 ( )
38| 4 x 100mR EE 54”06 EEZSE]:II: 56”19 ZM\%% 56”65

EFad & BXE (B2 1m40 |EH LIF EFE 1 1m35 |BH YD (BFE 1) 1m35 |JkHF HE ®% 20 1m30 |FH FHk =820 1m30 |HAE FIF HE 2) 1m20

N

EEHIHE JKiE (Edt 20 4m58 A IR (Ex 20 4m47 |k 75 (Ed 20 3m70 ¢ ) ¢ ) ( )

\
A

=
Al B BE

BE2) 8m89 |EHH RHE (Em2) Tm98 |EHE EF (Fh 2 Tm49 |1EH P (T2 Tm4ad |EH ¥ =R 2) 6m50 ( )

e
F




